
Model SAIR-50

ITEM PART NO.DESCRIPTION

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

4570901

1518099

1945363

4571600

1945361

4572920

4573020

4573030

4573200

1504299

1945378

1945374

1518699

4573306

1945372

2425010

7900499

4573120

0200699

1304899

2580099

4571010

3715150

2901399

4572330

1503999

* Replacement Parts May Differ from Original Equipment.

Control Knob

Screw M3 x 10MM PAN Head

Switch Box Cover

Switch 

Handle Assembly (Includes 9)

Switch Box

Cord Wrap Top

Cord Wrap Bottom

Handle Grip

Screw #10 x 1½ Type A or B

Housing

Grill

Screw 10-32 x ½ Type F

Motor Mount Bracket

Motor 

Wheel

Wheel Bolt

Wheel Spacer

Lock Washer

Nut

Cord

Foot Tubular

Wiring Harness

Set Screw 

Fan

Screw #10 x ¾ SL Hex Head

When it comes to quality HVAC and refrigeration,, Shop-Vac is the brand you can depend on.

https://www.toolsid.com/hvac-refrigeration.html
https://www.toolsid.com/shop-vac/

